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— Q& D) 20,0003 » 1& * 429 840
—2S2I 100,000& = 12 » 42 4,200
— 2SI 100,000& = 1& » 42 4,200




sEEs
HY2HZU (2EEZS)(OIEH/DIE})
ol 2ot chel MR
S HE - S(EH) - NRAY - BES sk oy e 2
R =2 4,260 4,050 210
FABIEYEF=AH 4,260 4,050 210
OZ=2s 4,260
—EA2IHRFAH| 355,000& = 12& 4,260
AR A| 1,200 1,200 0
Mg H R A 1,200 1,200 0
OEZESuE MNMGHRFAY|
100,000& = 1 * 128 1,200
=&l 145,550 162,502 216,952
Jl2&H| 145,550 162,502 216,952
201 LetI] 25,890 27,402 A1,512
01 AtR22/Hl 25,890 27,402 A1,512
OSAEX 28l 13,0008 * 312fA « 128 4,836
OSZ20iAHl 5,000& = 64 = 30H = 128 10,800
Oggte3g 100,000& = 123 1,200
O4LmnE EN-HI 50,000& * 12& 600
OLmE =4l 9,470
—S A =2l 500,000& * 2CH 1,000
—ZellH =2l 100,000& = 5CH = 50/100 250
—=A| EU 200,000& = 53| * 204 2,000
—HZEE(S8) £ 200,0008 = 53 = 54 5,000
—PC==2l 100,000 = 31CH * 20/100 620
—J|EtEHl ==elbl 50,000& * 12& 600
OJIE AH2EFHI 5,000& » 318 * 12& 1,860
Oulat= 2 28,766,000& * -10/100 AN2,876
oyl 119,660 135,100 A 15,440
SLHOYI 119,660 135,100 A 15,440
OZEs ARFE (| 119,660
— 2Ol 20,000& * 319" « 128 « 128 89,280
— 224 Y| 70,000& * 31989 * 144 30,380
ES(SZ230)(2#EES/MoteE - E) 313,600 318,600 25,000
LHEHHKX & 313,600 318,600 25,000
LHEHHRIE 313,600 318,600 25,000
701 JIEtRI AN ES 313,600 318,600 25,000
01 JIEtI AN E= 313,600 318,600 25,000
O=ZINESEIHEES 313,600
—0tSot=S A4 21X At
42,000,000& = 14 42,000
—0iSol=E 222 FAE 4
20,000,000& * 14l 20,000
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SN B#AESD
HE: YRES(HYESH)(BYLS/YHE - £3
Sl S HHKIS (el a2
_ o PSfEN== =
SA-EFH - SA(SAH) - MREAY - BES Off &F OH Ol AF o8 Hws2
—0FSot4 JI=XE 20,000,008 * 14 20,000
—OrSst e =2l 19,000,002 * 14} 19,000
—2rol24+29| 42,600,0002! * 14! 42,600
IECET 170,000,008 + 141 170,000
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